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Cuadro 16 (continuación 1)/Table 16 (continued 1)
Panamá: tablas abreviadas de mortalidada

Panama: abridged life tables 
a

1960

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.078 0.074  100 000  7 398  94 322 0.910 b 5 977 959 59.8
1 4 0.010 0.040  92 602  3 660  360 812 0.971 c 5 883 637 63.5
5 5 0.003 0.013  88 942  1 174  441 776 0.989 5 522 825 62.1

10 5 0.002 0.008  87 768   712  437 062 0.991 5 081 048 57.9
15 5 0.002 0.011  87 056   922  432 977 0.987 4 643 986 53.3
20 5 0.003 0.015  86 134  1 281  427 468 0.984 4 211 010 48.9
25 5 0.004 0.017  84 853  1 474  420 580 0.982 3 783 541 44.6
30 5 0.004 0.019  83 379  1 577  412 951 0.980 3 362 961 40.3
35 5 0.004 0.022  81 802  1 780  404 558 0.975 2 950 010 36.1
40 5 0.006 0.028  80 022  2 216  394 570 0.967 2 545 452 31.8
45 5 0.008 0.038  77 806  2 976  381 590 0.953 2 150 882 27.6
50 5 0.011 0.055  74 830  4 135  363 811 0.932 1 769 293 23.6
55 5 0.017 0.081  70 695  5 741  339 120 0.900 1 405 482 19.9
60 5 0.025 0.120  64 953  7 764  305 358 0.855 1 066 362 16.4
65 5 0.038 0.174  57 190  9 978  261 004 0.791  761 004 13.3
70 5 0.057 0.251  47 212  11 829  206 487 0.706  500 000 10.6
75 5 0.085 0.351  35 383  12 417  145 874 0.600  293 512 8.3
80 5 0.126 0.475  22 966  10 900  87 581 0.478  147 638 6.4
85 5 0.183 0.613  12 066  7 398  41 835 0.349  60 057 5.0
90 5 0.263 0.749  4 668  3 497  14 598 0.229  18 222 3.9
95 5 0.362 0.857  1 171  1 003  3 347 0.077 d  3 624 3.1

100 ω 0.605 1.000   168   168   277   277 1.7
Mujeres/Females

0 1 0.064 0.061  100 000  6 133  95 293 0.922 b 6 185 031 61.9
1 4 0.010 0.039  93 867  3 661  365 792 0.973 c 6 089 739 64.9
5 5 0.002 0.012  90 206  1 048  448 410 0.991 5 723 947 63.5

10 5 0.001 0.007  89 158   622  444 235 0.992 5 275 537 59.2
15 5 0.002 0.010  88 536   869  440 506 0.988 4 831 302 54.6
20 5 0.003 0.015  87 667  1 280  435 132 0.984 4 390 795 50.1
25 5 0.004 0.018  86 386  1 576  427 989 0.981 3 955 664 45.8
30 5 0.004 0.021  84 810  1 740  419 698 0.978 3 527 674 41.6
35 5 0.005 0.023  83 070  1 888  410 629 0.975 3 107 976 37.4
40 5 0.005 0.027  81 182  2 156  400 520 0.970 2 697 347 33.2
45 5 0.007 0.034  79 026  2 669  388 458 0.960 2 296 827 29.1
50 5 0.009 0.046  76 357  3 545  372 924 0.943 1 908 370 25.0
55 5 0.014 0.067  72 813  4 898  351 819 0.917 1 535 445 21.1
60 5 0.021 0.100  67 915  6 798  322 580 0.876 1 183 627 17.4
65 5 0.032 0.150  61 117  9 168  282 667 0.817  861 046 14.1
70 5 0.050 0.223  51 950  11 579  230 799 0.733  578 380 11.1
75 5 0.077 0.324  40 370  13 080  169 151 0.624  347 580 8.6
80 5 0.118 0.454  27 290  12 392  105 470 0.485  178 430 6.5
85 5 0.189 0.626  14 898  9 322  51 184 0.341  72 959 4.9
90 5 0.263 0.750  5 576  4 179  17 431 0.230  21 775 3.9
95 5 0.359 0.854  1 397  1 192  4 003 0.079 d  4 344 3.1

100 ω 0.599 1.000   204   204   341   341 1.7

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


